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12 15 AE # 38 44 82 22 60
2 S —EB 38 40 78 17 61
3 TERAT 36 37 73 10 63
4 KH{Zs= 40 37 77 14 63
5 AN 36 37 73 10 63
6 ARERL D A5 37 37 74 10 64
7 BK B 41 34 75 10 65
8 INEE B 46 42 88 23 65
ng A 37 39 76 10 66
10 EHEE 41 33 74 8 66
A0 & 39 42 81 14 67
LI 8 F 49 45 94 27 67
FEiREE 43 38 81 14 67
=XKIER 42 36 78 10 68
15 fRHEFE 41 44 85 16 69
7R — B 38 45 83 14 69
MRES 44 47 91 21 70
NE iy $ 43 44 87 17 70
AR ERfa & 41 38 79 8 71
20 ESmE 41 44 85 14 71
g1l BE 43 45 88 16 72
RIE & 47 44 91 18 73
hlIE— 41 44 85 12 73
BRHEPH 48 40 88 10 78
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